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7.817 (t)
21,610 (Mcal)

ZDHRBEY [R5
1.566 (t)
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0.690 (t)
4,672 (Mcal)
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BRAR
. 1.943 (t-ASRE[#X%3) g
7.159 (v) X
1,838 Mcal/t -
9,711 (Mcal) + 6,771 Mcal/t-ASRA[#X%> =
6,957 (Mcal) + 1.943 (t-ASRE[#4%3)
(111) (Mcal) +
119 (Mcal) +
0 (Mcal) + A RS55 ERRAS L (mix)E AR E
512 (Mcal) + (S 0.042 (t-ASRE[A5)
0 (Mcal) + R |, 1.437 (t) X |
0 (Mcal) + 1 200 Mcal/t =
966 (Mcal) + + 6,771 Mcal/t-ASRA[#X%> =
0 (Mcal) + 4 0.042 (t-ASRAE[#A%)
4,672 (Mcal) + 9
3,455 (Mcal) )+ %
6,771 (Mcal/t-ASRA[#4%) =
3.881 (t-ASRE[¥A%) %
| 235
g 1417 (0
0.715 (t) + BEE
0181 () + > 0,040 (©) [
0.644 (t) +
0.010 (t) + _, |EBEARIL(mix) |
0.000 (t) + 0.020 (t)
0.003 (t) +
0012 (1) + | || | [EEKEED
0.000 (t) + 0.237 (t) [
0.000 (t) +
0.000 (t) +
0.310 (t) +
0.000 (t) =
1.876 (t)
BATRNZE 3.881 (t-ASRAH) EURTRILF— 1.986 (t-ASRAT#A4)
+H¥ ARG 1.876 () +EURZTUTIL 1.714 ()
BAG 5.757 (1) ERET 3.700 (b)
[B]URET 3.700 (t)
— TAE 5.757 (t)
ASREAMRERE  0.64
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